b 149 .-’ﬁim Faal CATNO AP /

Q) —e” D M= Fd \ o= An d
];390,\ :<6):/\)>(.300M) Ay = Ma _ J.8LN) em
= LLEEN-m . 390 m
| x / ’ [Ax= & 63km\é-(
\
6N
A r = ?X }?
—— 2 sa
< '("' "%SBX( S. 462 %x/0 .>
Kx = S.634N

= y ok
A e 0= +0589 8

Seid 0 6
Med 559100 9 [

(<
% S/ Boomt
%///] 6:71\7" (,/oom)'l‘_.éb
\ ~
) / '.BM

‘390" y a
/‘/ . ////
56‘ - Lo
: e D Yoo p, .
~i JEo _ o
Cb: +en ( Hooj\ =IL8

/ KN e = Foo d siné

* 1]
E . Foa
d Srn®e
&"S_?/é/\)~m - FCD
\
S5 s (49 %

)0733.1 N~ Fy

Memé)v/ Cl) QKQ(}'; /D,%)AI\)@ &/agot




b) F= -l.bg1+ .5
F = —bENY
c Dme-7xF=|i  k
. A
© - 7 Thedm eSO e +3ENm k
163 m [ “bkw o ©
Mo = 3N m
<9034"/@>
75 = (-/S- ./ébh &_‘ . »
b6o ¥ M&o ) JAEYN
- B Ton ( Yo
éo; B B2 /Y342

M&: Eﬁ c/ St‘/\(—é—)
m
& - R,
d Sin-
JEN:mM

M

N o TF
V. 1a074 456 sin (80 77)

J1.78 kW = Tey

B /4.0y



